Math Numbers and Operations 2_3

Student Name: Date:

690, 815, 382 What number has

Which is least? 7 hundreds + 1 tens + 0 ones”?

A. 690 A. 710

B. 382 B. 701

C. 815 C. 711

3 4,

590 307, 804, 954
What number is in the ones place? Which is greatest?

A. 954

B.0 B. 804

C. 307



5.
What number has
1 hundreds + 12 tens + 11 ones?

A. 211

B. 112

C. 231

7.

658
How many in the ones place?

B. 5

43,48, 53,58,

What goes here?

A. 68
B. 73
C. 63

312, 105, 411

Which is least?

A. 312
B. 105
C. 411




%08 What number has

"
What number is in the tens place? 8 hundreds + 0 tens + 1 ones”

A. 8 A. 801
B. 108
C. 81
1. 12.
289, 996, 967 What number has
2
Which is least? 7 tens + 22 ones”
A. 567 A 92
B. 396 B. 72

C. 285 C. 29



13.

What number has
3 hundreds + 10 tens + 15 ones?

A. 315
B. 115
C. 415

15.

What number has
9 tens + 18 ones”?

A. 98
B. 108
C. 9

14.

What number has
1 hundreds + 18 tens?

A. 218
B. 280
C. 118

16.

55, 56, 57, 58, ___

What goes here?

A. 61
B. 60
C. 59
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